
YTBEP)KNAIO

Eeaxrr (rp)

Ozvptttt Kotrcepqupoqottttile c n

Ko:wnom us cvxod)DvKmos

Xrye6 nwertuqHbtti ;'li,rLb:'

,-"1 6. t2.2022

MEHIO dnn aruuxcflclno4nzacc

MEHIO dn fl uu-Ycn n0 rutuc
Hatrlrcnriuarrrre 6:tnul aurrol (rp) [ie.rnrr (r p) ilirrpur (rp) \ rreeolot ')l [ (rp) I lesa

O zy p t1 t't tio I t c e p B uI, o B o t t t t trt c c " r v Ko.rI 10 0,4 ) 0,9 14,58
PLzv oeou4ttqe c ilncq.r( 250 t 8,50 )1ni 29,6t) 3 5 2,00 60,84

Kounom u3 cvxod)pvKmoq 200 0.05 0,1 0 24,00 I 03,00 5,30
Xte6 nweuultHbtit 40 3,t 6 0,40 t 9,40 9s,00 2.60

Xze6 osrcutou 20 1,40 0,24 7,80 40,00 1.82
l.I roro 23.51 24,79 8l ,70 6 | 4,00 85,14
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Evmepdpod c,vacno.u 30//1 0 2,36 7,49 l-1,60 136 11,61
Kawu afl3Kiln MaHHun 200//5 1) 8,5 34,8 24'7 17,21

Vafi c Mo.noKoM 200 t/ I,60 9,30 )/ 4,67
Xrye6 nutettuttHbtil )n I,58 0,20 9,70 48,00 t.30

Xrye6 ptranoil 20 1,40 0,24 7,80 40,00 1,82
O:v p ut,t Ko t t ce p B uporfl t t t t u e c .7 v K( )"r,t 60 0,50 3,10 I,30 36,00 19,71
Cyn zopoxq(Jbtit c ?peuK&vu c .vnco.rl 200//t 0/ I 0 4.8 6,8 2 5,9 I )Z 20.07

Puzv ocot.tttt0a c .vttcq.tl 250 I 8,50 )) nt 29,60 3 52.00 60,84
Krnt n tt nt tt t (l'.\t)(1, Dt' lirnoB 200 0,0 5 0,It) 24,00 I0-1.00 5,3 0

Xted nruertuqttbttt 40 l,t6 0,40 19,40 95,00 2,60
Xze6 ptrortoir 40 I,80 0,48 I 5,60 80,00 3,64

Ilroro t2,7 3 50,96 t92 1316 148,77
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Evmepdpod c MlcJtoJvt 30//t 0 2,36 t,19 14,6 136 l l,6l
Ruua Bn3Ktn MaHHatt 220//5 I,t 9 38,2 270 18,40

Vait c MoltoKo,r4 200 t,4 1,6 9,3 57 4,67
Xne6 nweuu.utbtil 40 3,t6 0,40 t 9,40 95,00 2,60

Xze6 lttrcarutil 20 I"l 0,2{ 7,8 40 1,82
Ozv D tlt t Kor t ceDB ul)ocut t t t br e c t00 0,80 5,1 0 ttn 60.00 32,85
Cyn zolto-voBblit c JpetrK(r-vLt c .rInco.vr )50/,'l()/10 6.40 8,20 30,40 22 t,00 22,40

Puzv ttcotttu|e c .vucq.tr :50 18,50 )) t)i 29,60 3 5 2.00 60,84
Ko.vnom uJ cvxqd)Dy Kmls :00 0,05 0,1 0 21,00 t 0-t.00 5,30

Xze6 nuettLturtbril 40 ,t,I6 0,40 19,40 95,00 2,60
Xze6 Dtrcarnir .10 I,8t) 0,48 I 5,60 80,00 3,64

l{roro .17.1 J 55,06 21 0,50 l 509,00 166,73


